ORDER #002373



Platinum Events 310.600.3784

Order Date: July 25, 2022 Due Date: Upon Receipt

PO: Shipping Address: LOMBARDI HOUSE HOLLYWOOD 1717 BRONSON AVENUE LOS ANGELES, CA

EVENT DATE IS 7/29 - 7/31 (3 DAYS)

DELIVER & INSTALL THURSDAY AM
PICK UP MONDAY - TIME TBD

Description		Qtty	Price		Total
CS ENTRANCE					
	WHITE *NEW* 8FT BAR WITH WOOD TOP	1	\$400.00	Т	\$400.00
	HOUR GLASS BAR BACK, GOLD	1	\$200.00	Т	\$200.00
	Green Hedge Panel	2	\$110.00	Т	\$220.00
		7	Total CS ENTRANCE		
RTD AREA					
	WHITE LAQUERED 4FT X 10FT WALLS	3	\$250.00	Т	\$750.00
			Total RTD A	REA	\$750.00
PANEL AND ST	AGE				
	GREEN ASTRO TURF COVER (STAGE PROVIDED BY VENUE) SEE DIMENSIONS ATTACHED 8FT X 20FT X 24" HEIGHT / 8FT X 4FT X 24" HEIGHT	1	\$550.00	T	\$550.00
	Montauk Arm Chair, Light Wash	2	\$125.00	T	\$250.00
	Kharta Side Table	2	\$45.00	Т	\$90.00
	WOOD CABANA 8FT X 12FT WITH NATURAL FABRIC DECOR **TO BE INSTALLED SATURDAY 7AM**	1	\$550.00	Т	\$550.00
		Total PANEL AND STAGE			\$1,440.00
DRIVEWAY ARI	EA/FOOD TRUCK AREA				
	CUSTOM WALL 8FT X 8FT WITH OPENING	1	\$500.00	Т	\$500.00

Description		Qtty	Price		Total
X	Mayflower Cocktail Table	6	\$110.00	Т	\$660.00
<u> </u>	VINTAGE NATURAL UMBRELLAS WITH BASE	6	\$85.00	T	\$510.00
	Total DRIVEV	VAY AREA/	FOOD TRUCK AF	REA	\$1,670.00
RESTROOM A	REA				
	Hedge Panels 8FT X 4FT SPACE IS 28FT X 11FT	12	\$110.00	Т	\$1,320.00
		Tota	I RESTROOM AF	REA	\$1,320.00
INSIDE HOUSE	AREA/CS CD ROOM				
	CUSTOM DECAL FOR WALL (12FT (163"inches WIDTH X 9FT HEIGHT) PENDING SPECIALTY PAPER & COST	1	\$750.00	Т	\$750.00
	WOOD WALLS OR FOAM BOARD (FOR DECAL)	1	\$575.00	Т	\$575.00
	Total INSI	DE HOUSE	AREA/CS CD RO	ОМ	\$1,325.00
TASTING AREA	A & BAR				
	HEDGE PANEL BEHIND SWING	3	\$110.00	Т	\$330.00
I	Mayflower Cocktail Table	4	\$110.00	Т	\$440.00
	CUSTOM SWINGS 12FT X 10FT TRUSS/COVERED IN GREENERY/ 2-SHABBY CHIC SWING SETS	1	\$2,500.00	T	\$2,500.00
	WHITE *NEW* 8FT BAR WITH WOOD TOP	2	\$400.00	Т	\$800.00
	HOUR GLASS BAR BACKS, GOLD	2	\$200.00	Т	\$400.00
	Hedge Panel BEHIND BAR	6	\$110.00	Т	\$660.00
	VINTAGE NATURAL UMBRELLAS WITH BASE 1-BAR/3-EXTRA (WALKWAY)	5	\$85.00	T	\$425.00
		Total TASTING AREA & BAR			\$5,555.00
BARN AREA /	LN LUNCHEON				
	Hedge Panels 8FT X 4FT	5	\$110.00	Т	\$550.00
	SPECIALTY LIGHTWOOD FARM TABLES TABLES	4	\$200.00	Т	\$800.00
	Louis Dining Chair, Vintage Grey	40	\$18.00	Т	\$720.00

Description		Qtty	Price		Total
	WHITE NEW 8FT BAR WITH WOOD TOP OUTSIDE OF BARN	1	\$450.00	T	\$450.00
	HOUR GLASS BACK BAR, GOLD OUTSIDE OF BARN	1	\$200.00	Т	\$200.00
	VINTAGE NATURAL UMBRELLA WITH BASE	1	\$85.00	Т	\$85.00
		Total BARN ARE	EA / LN LUNCHE	EON	\$2,805.00
OUTDOOR GRA	ASS AREA				
	GOLD DIOR BACK BAR	1	\$250.00	Т	\$250.00
	GOLD BAR CARTS	3	\$45.00	Т	\$135.00
	WHITE DESSERT CART	1	\$425.00	Т	\$425.00
	CUSTOME DECAL (FOR DESSERT CART)	1	\$0.00	Т	\$0.00
	Amalfi Presidential Dj Booth, 6FT (WHITE) SAME AS EVENT IN BEVERLY HILLS	1	\$150.00	T	\$150.00
	Sofia 360° Bar (WHITE) SINGLE PIECE CURVED	1	\$475.00	Т	\$475.00
	VINTAGE NATURAL UMBRELLA WITH BASE FOR DJ	10	\$85.00	Т	\$850.00
		Total OUTDOOR GRASS AREA		REA	\$2,285.00
THE GRILLS A	REA				
	Black Polyester 6ft Linens	3	\$25.00	Т	\$75.00
	Banquet Table, 6ft	3	\$10.00	Т	\$30.00
		Total THE GRILLS AREA			\$105.00
SCULLERY					
	Banquet Table, 6ft	3	\$10.00	Т	\$30.00
	WHITE POLYESTER 6FT DRAPES	3	\$18.00	Т	\$54.00
	Hedge Panel PENDING SET AREA (ENTRANCE OF BARN DOUBLE DOORS OR OUTSIDE OF BARN)	5	\$110.00	Т	\$550.00
	VINTAGE NATURAL UMBRELLA WITH BASE PENDING SCULLERY GOES OUTSIDE	1	\$85.00	Т	\$85.00
		Total SCULLERY		ERY	\$719.00
CATERING					
	Banquet Table, 6ft	6	\$10.00	Т	\$60.00
	WHITE POLYESTER 6FT DRAPES	6	\$18.00	Т	\$108.00
	30 GALL TRASHCANS WITH LINERS	10	\$15.50	Т	\$155.00
			Total CATER	ING	\$323.00

		O 11		
Description		Qtty	Price	Total
EXTRAS				
	INDUSTRIAL FANS	2	\$25.00 T	\$50.00
			Total EXTRAS	\$50.00
Services				
	TRUCKING FEE	3	\$350.00	\$1,050.00
	VAN FEE (SATURDAY 7AM)	1	\$75.00	\$75.00
	EVENT INSTALLATION FEE (THURSDAY)	1	\$2,400.00	\$2,400.00
	EVENT INSTALLATION (SATURDAY 7AMCABANA + MOVING FURNITURE ONLY)	1	\$450.00	\$450.00
	EVENT BREAKDOWN FEE (*MONDAY 7AM*)	1	\$2,100.00	\$2,100.00
	TAX 9.5%	1	\$1,820.86	\$1,820.86
Notes			Total Products:	\$19,167.00
		Total Labor/Services/Misc		\$7,895.86
		T	axes (tax excempt):	\$0.00
			Discounts:	(\$0.00)
			Total:	\$27,062.86
			Payments:	(\$27,062.86)

\$0.00

Balance: